AR o#ER —

BE

=

=
95
e AFI5410831H BAr  (BIRTRE(EFAL)
BE \4a110:30 HATA |ZRETE T
PN = =
TE4 ﬁﬁgﬁgﬁgﬁmﬁ%ﬁ#mﬁm%ﬁ%ﬁmﬁﬁ ARl |REERE =% RE
RB%) usA R i
B | BIRET RFESF HhiF ARAE |[IBRFEFE AL
fgﬁ SF5E1187H %’_ﬁga SH6E3R29H
AR A ASE
=55 F 1[0 F 2] REZE|EESEIIEBT AT 7E Hh
1 2 700,000 ﬁitf_*i E=rdesE35 0] Iifﬁll\iiﬁiﬁq:w%m%
2 2,880,000 KRRty (B RDETR22ES
3 2 780,000 zﬁzywwywﬂaiﬁ fgfﬁﬁ%/l\iﬁ\ﬁ%ﬂaéﬁﬂ%z
BTy [EHENERAMET=TH
4 2,700,000 HL 7 ” 12322%_,—'ﬂ
v B RM To—Hfi|[fEH RSB RET2—11
5 2,500,000 7%*'; aVH LAV ! —36 =
6 2 700,000 git%*i EEEER E#E/J\;‘Eﬁﬂ%ﬁ%?%m%
B ThYILY [EHENERIAEE33S
7 2 700,000 " st o S
8 2,700,000 EL BRIt | RNETSEBISE

131




